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FEARER T 1 v 7 DK 1RO —R2 7 ¢ L HFEAREFE  1pl

EXERIOYIDE

Diagram of the basic circuit block

1TROO—/NRT 4 LA EXRMEE Ip1

1st order low-pass filter basic circuit Ipl

Vss
O
S J LM324
| o
R 1 V4 4
o 'z"\"."‘.'-/——?—ﬁ + i 1
c1 L |+ op
I Vdd :
Ip1.cir

H2—1 1XROa—R"Z2A74 V7 EEXEBR1 lpl_l cir

Figure 2-1 1st order low-pass filter basic circuit lp1.cir

Ipl_cir DI=ERKL

transfer function of Ip1.cir

__([WCR) -
Hl(a)p's)_s+(]/ClRl) (2= 1)

TR DOBFED — 27 4 LV Z IR SN,

Used for various low-pass filters of odd order.
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BB 7 vy 7 DX

1T RDINAINZAT 4 JLZEKEFE hpT
1st-order high-pass filter basic circuit hpl

b L—4;I Vdd

OP1  LM324

0 hp1.cir

LIRDOANAIRAT 4 V2 FARREIE  hpl

4—1 1IRONAIRAT 4 VZFAKEIFE hpl.cir
Figure 4-1 1st-order high-pass filter basic circuit hpl.cir

hpl.cird{=iZERI%L

Transfer function of hpl.cir

R, s
Hl(""”s)z_?ls+(l/cl&)

TR DEFENANAT 4 V2S5,

Used for various odd-order high-pass filters.

(4—1)
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AR T 1 v 7 DK 2D —RA T 4 )L HAREE LP1

2ROO—/INR T 4 LR EKEFE LP1

2nd order low-pass filter basic circuit LP1

I .
R3 & 1 |
. l . ’l C2 0 Vss
R1 R2 . -
)~ L—A:) \/dd
oP1 LM324
2. €1
| | ! LP1
0 "0

2—3 2%kD—RR 7 4 FEARRK L P 1(patl_2.cir)
Figure 2-3 2nd order low-pass filter basic circuit LP1 (Ipatl_2.cir)

L P 1 OIS
Transfer function of LP1

H,(,.5) = R,J\C,C,R,R, (o3
SZ+R1R2+R2R3+R3R13+( 1 j
Cl Rl RZ R3 C1C2 R2 R3
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2ROA—/NR T 4 LA EREE LP2

2nd order low-pass filter basic circuit LP2

P rD Vss
- . C1 b _';,_‘_
3 ,:1 L;Z‘Y "o wid
I C2 oP1 LM324
0 LP2

2—4 2O —sRA7 4 ZHAKRREE L P 2(0pat2_2.cir)
Figure 2-4 Quadratic function low-pass filter basic circuit LP2 (Ipat2_2.cir)

L P 2 OIEERMEL
Transfer function of LP2

1
) _ C1C2 R1 Rz

Haf@, )= , RAR, 1

P (2—4)
S™+

CRR, CGCRR,
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2RDNAINRT 4 JLAEKRER HP1
2nd order high-pass filter basic circuit HP1

2IRDNAINAT 4V FHAREE HP1

C3 4 > R2
| —- =
C1 C2
‘:) ~+. »
SR1 '
OP1
<V,
0

HP1

4—2 2WONANRT 4 )V ZFHAREEE HP 1 (hpatl_2.cir)

Figure 4-2 2nd order high-pass filter basic circuit HP1 (hpatl_2.cir)

HP 1 DiEEREK
Transfer function of HP1

s2

Hz(a)p,s):—

G
C, 52+C1+C2+C38+

1

C,GR,

C2 C3 R1 RZ

(4—2)
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2RDINAINR T 4 LA EKRERE HP2
2nd order high-pass filter basic circuit HP2

| _
< V4
—4',5—‘—4} 2 2 + L
C2 oP1 LM324
R2
lo HP2

K4—3 2ONAINAT 4 FFERREIE HP 2 (hpat2_2.cir)

Figure 4-3 2nd order high-pass filter basic circuit HP2 (hpat2_2.cir)

H P 2 D5
Transfer function of HP2

2

S
W@mﬂ=2 Q+gs+ 1

S+
C1C2 R, C1C2 RR,

(4—3)

2IRDINAINAT V2 FREE  HP2
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AR T 1 v 7 DK 1IRDI/IN RISAT 4 )V HFERANEE  BP1

1TRODINY RNNR T 4 LR EKRERE BP1

1st order bandpass filter basic circuit BP1

LT
Cl1 = < R3
< N Vss
—"\,‘-,"V-I 4 }J E \“\\[4)
R1 o
\'4'0//
- - Vdd
< R2 oP1 LM324

' | BP1

6—1 1RO RARRAT 4 VX HARFEE B P 1 (bpatl.cir)
Figure 6-1 1st order bandpass filter basic circuit BP1 (bpatl.cir)

B P 1 D=L
Transfer function of BP1

R Cil *
_ 3 3 o
Hl(wp's) 2R 2, 2 .\ R +R, (6-1)
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AR T 1 v 7 DK 1LIRDO/NY RANR T 4 VX HOREEE BP2

1RDINY FINR T 4 LR ERKERE BP2
1st order bandpass filter basic circuit BP2

Rx1
g o -
3 ! Rx2
LM324 R22
. -
M4 < ° o 4
R21 Cc1
Y a
. - . - . A
R11
- R12 -
6—2 1RO RARAT 4 L ZHAKEE B P 2 (bpat2.cir)
Figure 6-2 1st order bandpass filter basic circuit BP2 (bpat2.cir)
B P 2 D{nEREK
Transfer function of BP2
2
R, +R CR °
Hy(@,,5)= ——— L . (6—2)
R
4 ) 2 ( 1 ]
S+ s+
CR, CR,

LtAct) OFHEAEZR3=0 (272 5Hf2i, [LTSpice] TIIHFHEIC 0 M+ 5Z &
PRV T, TLtAct) 1 X R3=10m (0.01) & LET,

When the calculated value of "LtAct" is R3 = 0, "LTSpice" cannot use O for the element
value, so "LtAct" outputs R3 = 10m (0.01).
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AR T 1 v 7 DK BE 7 4 V& i OEFET ¢ V& O FAR[E 1
BE1

BE 74 ILARUKBIET 1 IILZHOEKRER BE1

Basic circuits for BE filters and various filters BE1

LP3, HP3, BP3, BE1 (et1)

K2—5 2kOB—/XAT 4 VZZOM TR SIS HEARE (petl_2.cir)

Figure 2-5 Basic circuit used in secondary low-pass filters and others (Ipet1_2.cir)

ZoRKIZLP3, HP3, BP3, BE1l, "A %A, NV KRXZX, BEZ7 4 /VH¥THH
)EH éﬂéo
This circuit is also used in LP3, HP3, BP3, BE1, highpass, bandpass and BE filters.

etl(LP3, HP 3, BP 3, BE 1)D{xiEE%%
Transfer functions of et1(LP3, HP3, BP3 and BE1)

R 2+c: ZEZZR
— 3 b b 4 275
Ha(,9) R §2 3R, 1 ( :

+ S+
C,Ry(R.+R,)” C/R,

15 / 201



AR T 1 v 7 DK BE 7 4 V& i OEFET ¢ V& O FAR[E 1
BE2

BE 744 ILARUKBIET 1 IILZHOERER BE2

Basic circuits for BE filters and various filters BE2

R3 RE Pd
[ * — - L ——— -
RS
| g i
0 d
R ' R ) —
2 S ——\\ 9 —
oP1 MX24 : ‘K“! LMI24
— — ?—‘1'— * ]- - - -d
R1 | w:l C2
4
' LP4, HP4, BP4, BE2 (et2)

K2—6 2KOA—I/SAT 4 )LHZOMTHIH S5 AR (Ipet2_2.cir)

Figure 2-6 Basic circuit used in secondary low-pass filters and others (Ipet2_2.cir)

ZOEBIZLP 4, HP4, BP4, BE2, NA/8A NV RNR BEZ 4 VZ THE

)EH é 2/1/ 5 o
This circuit is also used in LP4, HP4, BP4, BE2, highpass, bandpass and BE filters.

et2(LP4, HP 4, BP 4, BE 2)D{xiEE%
Transfer functions of et2(LP4, HP4, BP4 and BE2)

. (1Y)
kk R > +(C Rj
_ M b
Hz(a)p,s)— 1+kd R. , kd+kr+4-—4kk 1+ kr
68"+ S+
C,R,(1+kd) C,"R,*(1+kd)

(2—-6)

2-Rb kd-Cb
C2 =

o > ,R3 =(kk—1)-R5

Rb
R1 =7,C1 =2-Cb,R2 =
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T4 ILE DEMRFIEE T 4 LI K D EIBDERK

BE 7 4V Z KUOEFET 4 V& FHOEAKRERE

A—/%2 NE—T7 =R JKO YFzrz7 RO
RE n=2m(+1) FrbE z7 TEFHBI%L
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O] BR A K (Ipl +) LP1 *m (Ipl +) etl *m
77 A ILE LP2 n n=2m(+1) LP4 n n=2m(+1)
(O] BEAE (Ipl +) LP2 *m (Ipl +) et2 * m
INA INZ NR—T]—Z KN WFzbE>z7 EO
RKE n=2m(+1) FrEy 7 Clalaksd
77 A I HP1 n n=2m(+1) HP3 n n=2m(+1)
[B] B& A AKX (hpl +) HP1 *m (hpl +) etl *m
77 AIE HP2 n n=2*m(+1) HP4 n n=2m(+1)
[B] B BX (hpl +) HP2 *m (hpl +) et2 *m
Ny R/RR NE—T—Z RN PFrzbrz7 RO
RE n=2m(+1) FzEyz7 igalak
TZr7ANLE BP1_n BP3. n n=2m(+1)
(B B4 AR BP1 *n (BP2+) etl * 2m
77 A I BP2 n BP4 n n=2m(+1)
(B B8 AR BP2 *n (BP2+) et2 * 2m

AR N YN S %

NEZ—7—2Z KO

¥FzEyz7 kRO

REn FrxbE 7 iRlEaE
77 AIE BE1 n BE1_n

[B] B& A AR etl *n etl *n

77 AN BE2_n BE2_n

[E] B& 4% A et2 *n et2 *n
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LtAct DX A 7 a7 OHFEE AT HIEIZONT
Ny R I x—v a7 44

INE—T)—R T4 LR %EERETT B8

W N7 L7
ZHIA-IDOAS X

[147H Fpl) (CHLIEEO FUE %% Fpl 2 ANT 5,

[247H Fp2) (CBLIEIGO FifEks Fp2 2 A7 5,

NE—T—2OWE, Fpl & Fp2 (231) 53 k% 3.01dB & 720 £,

[84TH Xs) ICRAKMEMAIEET 5 MPi% Fsl & Fpl Okt (Fs1/ Fpl) 2 ANT %,
[41TH atts) (ZJAMEL Fs1 1081 2 (i & atts # AT %,

W NI D
BEITA-FDOAS X

MATE m) 27 4V Z DR m Z AT 5,

[247H Fpl) IZFHIEEO TonfE B Fpl 2 A3 %,

[347H Fp2) IZFLIEKO FoEsis Fp2 2 A+ 2%,

[41TH Xs) ICHRAKEEZEET 2812 Fs1 & Fpl okt (Fsl/ Fpl) & A9 %,
Xs O _EBRIZ AT Box OEMICER SN TS EE (1.7321) L FICLTRFEWY,
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LtAct DX A 7 a7 OHFEE AT HIEIZONT
Ny R I x—v a7 44

FrE I D, BFEST D, EHBRESRT A

W N7 L7
BEHISA-ID AT X

[147H Fpll (LIS P Fpl 2 A1 5,

[247H Fp2) (CBLIEIGO FifEks Fp2 2 A7 5,

[317H attp) \ZJHHH Fpl ©Y 7 attp & AHT 5,

[44TH Xs) \CRARBERZIEEY %MKk Fsl & Fpl otk (Fsl/ Fpl) 2 ANT 5,
Xs O _ERRIZAT) Box OAEMNZFR S TODHEME (1.7321) LFIZLTREW,

[51TH atts] (ZJEMEL Fsl 1081 2 i & atts # AT %,

B NTT$ D

BEGA-ID AT X

[MATH m) 27 4 VX O%Em % A7 5,

[247H Fpll (CPHILEO FE R Fpl # AT 5,

[347H Fp2) (IO EE M Fp2 % AT 5,

[44TH attp) (ZJEWE Fpl @V 7L attp & AT %,

54TH Xs) SRS A RE T 2838 Fs1 & Fpl otk (Fsl/ Fpl) # AN¥ %,
Xs O _EFRITAT) Box DEMIZER SN T 25K (1.7321) LUFIZLTREW,

FrtiaT, BF=tiaT, HEEEERIT S
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LtAct IC k2 7 4 V2 —D%EHFNE BEF 1 ANF—T—R e m— XA T L H

LtAct IT& B T 4 L2 —DXRETFIE
Bt 1 NE—TJ—X - O—/RRT 4 ILE

1. &Y, REFT DT AL DEEERET %,
11)b5 DEBE R X

2. By NATEEEN 1KHz TIREN 4 IRONZE —T— 20— XA 7 )V X Zixkit LT
BET, RNTA=HEZASHLT IOK] ZMLET,
SBEHSA-YDAR X

3. INT, EEDHEE Lic, BEEEED VT 7 BERSET,

7" Low Pass Butterworth =4
Fe = 1.0000KHz attp = 3.0103dB Fs = 1.5000KHz atts = 14.25dB

10dB
048 ~
-104B
__________
T
-204B o
-y \

-40dB S

100 300 1K 3K

L. &ANS, BEtT 27 4 VZ ORBAERIET S,
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LtAct IC k2 7 4 V2 —D%EHFNE BEF 1 ANF—T—R e m— XA T L H

4. EEEHKORKEEALES, TOKI #ELET,
HEEEOETRILEEAD X

5. MBIV ANDT 7 ANZEANTILT, RF] ZMLET,

CT BEEMURE X
BETHEH(): | LTtest v - BB

&4 - EFEE &8

Bl sys 2023/02/12 (B) 1233 If

Tvera 3LEOERT-F 2023/09/11 (§) 14:05 774N

ToverdaLlENEET-4 2025/01/28 () 627 74

TINSYIRAS- EE 2025/03/06 (&) 20:35 T714 )
|BCjournal.oxt 2025/02/28 (%) 1405 TXT J;

Bl LiactsEEs 2023/04/13 () 19:16 XT 75
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LtAct lIC k27 4 V2 —DF&FHFIE BEF 1 ANF—T—R e m— XA T L H

6. &%) R F(journal.txt)ZFEET 5,

e RERBOFRE, by P T EEEK. QE. GBE
7frs” Low Pass Butterworth WR#=4
Fp= 1.0000KHz attp=3.0103dB Fs= 1.5000KHz atts= 14.25dB
2 WX DOFEH
Pn 2*s"2+Pn 3%s+Pn_4

Hn = -
s"2+Pn O0*s+Pn_1
2 Ik
n Pn O Pn_ 1 Pn_2 Pn_3 Pn_ 4
1 4.8089K 39.4784Meg 0 0 39.4784Meg
Fe= 1.0000KHz Fc¢ 71 = 2.3226dB Q= 1.3066 GB &
=130.6563KHz
2 11.6098K 39.4784Meg 0 0 39.4784Meg
Fe= 1.0000KHz Fc¢ 71 =- 5.3329dB Q= 0.5412 GBfE=
54.1196KHz

AN E W REREOBREDRE SN T, ROXIIZ2ROT7 4 vZ =0 2 AEH S5
ZEDTND,
1&EBH D7 4 NVF-DIREREK

b 39.4784Meg

1™ 52 4 4.8089K - s + 39.4784Meg

2% H DT 4 NH-DIRER

b 39.4784Meg
27 524+ 11.6098K - s + 39.4784Meg

1HFHG 2FA Oy FATEEEIL 1KHZ (2725 2 D300 5,
1HZFBOD Y bATEEEKICBT D7 A & QEITENEN, Fec7'( = 2.3226dB
Q= 13066 &7V, AT U 7ICHERINDH GBHEIL 130.6563KHz UL ETH 5,

2FREDOH v NATEEBICB T A5 A v & QEIZFNEN., Fe 71 > =-5.3329 dB
Q= 0.5412, A7 U ICEREIND GB FEIL 54.1196KHz LI TH 5.
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7. ABEDOI77AILEH AT B,
AN |a| ER X

FEARMAE 28I L T TOK) %49, A%, [LP1] £721% [LP2] 2MEIRTX 5,
LP1 ORI

EAEBEORE X
wz |
cz
gl
—MA, -
R1 RZ N
V:

——
LP2 D[R
EXRREOES X
1t |
R1 R2 l‘n
0
Cw ]

FEARRIEIE TLP1) 23R L £,
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BEILI=D4 L2 —ZBHT S

LT DT A NEDH v b T EAEEROREIR EDONRT A= EBREL T, 74 VHDI&
FERS ORI BT D FNEN 7 4 NV H —DREF T,

Rt TIRIE SNIARZERB ORI b T DR OESUE L 2 7 Yy OEEZRET

AFIELT 4 VZ DERTT,

BER L 72 AR I LP1 OAZB I LI F OB TR SN ET,

&)
Rl C1C2 RZ R3

o RiR+ R2R3+R3Rls+( 1 ]
Cl Rl RZ R3 ClCZ R2 RS

(2—3)

1EFBDT7 0 V2 -DInERE

o - 39.4784Meg
1™ 52+ 4.8089K - s + 39.4784Meg

2%H DT 4 NH-DIEER S

b 39.4784Meg
27 524+ 11.6098K - s + 39.4784Meg

I 2 R BB LN 2 ODEEME HL & H2 0FnEhn= (2 —3) -4
P a v F oS OEERETH L TT A NEDOERIBET LET,

DT A NE—DERKIE, 74 VH T L DORERKEFZHEOREE] — m—RR
TANE| = [ RE—T— 2L F 2L = 7OWREHFE] ICHHALTHY 7,
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8. BRENI7AINEBEANT B,

T AEER RS X
FETIEH(): |70 LTtest ~] BB

&5 - EHEH s

Sl sys 2023/02/12 (B) 12:33 774

Tverd 3L ERT-5 2023/09/11 (B) 14:05 774N

Tlver3 14LEOERT-S 2025/01/28 () 6:27 774N

TINSYYRS- EEE 2025/03/06 () 20:35 774

4, BP1_12-but-1KHz-3KHzasc 2025/02/28 (£) 14:05 LTspict

B journal.txt 2025/03/19 (X) 1827  TXT 73
I74 V& (N): [LP1_4-1KHZasc 85
TANOBED: [ asc = #w

= 4

FEAREIT TLP1) Z3@RL T, 77 A V4% [LP1_4-1KHz.asc] & AJJL7Tz,

9. MXDOART T aERT 5, NI Z2# L C TADA4807-4) % i®IRT 5,
7074724 AMRE IOV L X

ﬁ EEEQANT /TETADA4B0T 4| [ EZ 3L VES)

gom | veze |

10. FEOFTEEZRET D,
VI EROES X

EEHEODREERWET S 28 Y- DEBTHEMNT S

_ romMo@ER3 | o | envEE|

a T U EEPIOHESMEN TR EN D, [OK] 2 MEEROFTFOWREICE D,
ZZTix TOK] ##4,
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11. 2EBBDOFRFELREKIC TOK] ##HY,

T4V EIREDE X
2RO7 7 I IEAROERRE
g1.2 = [0-51 n ] £2_2 = 0.1800n
A1z = 4771108 HK | R2_2 = 578.3334K
E28 Y1) -ANHOKE  3.5029 %
EEGOBEERZTS | 28 YU -2 OBTENT 3|
ROBEOBEERD | 0K Ey-EE |
12, EERATER LT,
7974724 DEETOT I X

OK

1 3. [LTSpice] TEIKXZ 71/ [LP1_4-1KHz.asc] %BA<,

[ve [
@12@12. . l:z;zhe%;z:i o _. _ .__#E_

in U2
out
Vi . L . . . L g VMR
‘1.22Meg| 1. 24Meg Z : : g
ADA4807-4
AC1 ci 1 _ o C1 2 CLvm .
g 0.51n %’7 0.51n
SINE(0 1 1K)

.ac oct 50 0.01 100meg

CORIFEEFTDIT4T 243557 F LtAct fJ".:h' h lfoEL;T

Low Pass Butterworth order =4 o ) :
Fp = 1.0000KHz attp = 3.01dB Fs = 1.5000KHz atts = 14.25dB
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1 4. lLTSpicel] TRAKEH#EMEZIaL—2 30T 5,

E£8P1_12-but-1KHz-3KHz.raw =)@ =]
. V(out)
\
1KHz fHE 2Rz AT 5, &Ero#@b . 1KHz D5 A 1%-3.04dB 12725 T\ 5,
2 BP1_12-but-1KHz-3KHz.asc =R E <

V(out)

1 5. lournal.txt] ZBIVT, MK ORI EZ BT 5,

ARk [A]BE DR L 3R T RRRRRRRR e R
[E3% X7 7 A V4 E¥LT test¥BP1_12-but-1KHz-3KHz.asc {Fik A R Wed Mar 19
19:03:19 2025

7+r)" Low Pass Butterworth %i=4 ST — F=0
Fp= 1.0000KHz attp=3.0103dB Fs= 1.5000KHz atts= 14.25dB

1(LP1) (LP1-0-2) Cl_.1= 0.5100n C2_1= 33.0000p
R1_1=R3_.1= 1.2162Meg R2_1= 1.2376Meg #i7 =3.31%

2 (LP1) LP1-0-2) C1.2= 0.5100n C2_2= 0.1800n
R1_2=R3_2=477.1108K R2_2=578.3334K 27 =3.50 %

1 4. [LTSpice] THEHEFM L I 2L —Ta T4,
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LtAct Ik 27 4 V& —DiREFIE XA 2 FEMBAEL - v — R T 4 A

A2 BAEK - O—RRT AL
By NA T EWEE 1K Hz, Y 70 0.1dB O 6 WA BRI — 82 7 ¢ L H — 2 EET B,

INTGA—BDAN
REIA-FDAN X

JABER DN TR SN D,

= Mcact21

737" Low Pass Elliptic /K246
Fp = 1.0000KHz attp = 0.1000d8 Fs = 1.5000KHz atts = 57.77dB

10dB
0dB

-104B
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~204B

~304B N \

0B | \

s o
-70dB ‘( \/ \\
-80dB ! V \

100 300 1K 3K

v
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LtAct Ik 57 4 V& —DikEFFIE At 2 MBI - v — XX T 4 LA

CERBORRZHETT 5
e RERBSOFRE, by P T AR, QE. GBE
7+87° Low Pass Elliptic %&%=6
Fp= 1.0000KHz attp=0.1000dB Fs= 1.5000KHz atts= 57.77dB
2 KD
Pn 2*s"2+Pn 3%s+Pn_4

Hn = -
s"2+Pn O0*s+Pn_1

2 Ik

n Pn O Pn_ 1 Pn_2 Pn_3 Pn_4

1 1.0101K 43.3580Meg 0.1089 0 111.0642Meg

Fe= 1.0480KHz Fc¢ 71 = 24.0757dB Q= 6.5185 GB#&

=683.1331KHz

2 3.4858K 31.3449Meg 0.1089 0 16.8874Meg

Fc= 891.05637Hz Fc 7 Af>=- 32183dB Q= 1.6062 GB7#H
=143.1168KHz
3 6.1303K 14.2238Meg 0.1089 0 10.1886Meg
Fe= 600.2435 Hz Fc 7 (>=- 85502dB Q= 0.6152 GBfi=
36.9279KHz

B L VR OBRE NI EEIN T, ROX 2D 7 4 M F—RN3EER NS
WD,
1FBDO T 0 )VZ-DInEREL

01089 s? 4+ 111.0642Meg
17 524+ 1.0101K- s + 43.3580Meg

2FH DT 4 NVE-DIGEEREL

_0.1089- 5% + 16.8874Meg
27 52 4 3.4858K - s + 31.3449Meg

3EBHDT 4 NH-DIEEERE

_0.1089-s% + 10.1886Meg
37 524+ 6.1303K - s + 14.2238Meg
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LtAct Ik 57 4 V& —DikEFFIE At 2 MBI - v — XX T 4 LA

[0 % (] 4 R

R 2 AR Tet2) 28R L T, £TOKEMMEEL TOK) L T, BIEKXZEHk
LT [LTSpice] THWTHD,

- R6_1 | R3.2 R6.2  R4.2 R3_3 . .
7 o Fooonon . w5
+|.v2 V3 C1.: . d B - . 7.89K SCL Le 4.97K- 4
p p p p p p
.54u = n <5
o R 4+ 4.

@12 @;2 0.260
in

240.9-240.9 42.65K 2.65K
~7
SINE(0 1 1K)

b1l cha 1 cb123 “ch2 3
0.13u | 0.13u
-acoct 501 100meg - R1-1.c” R2_1

vm v b
0.27u | 0.27u 390
: e ey L B NN
1.8u 148.73..7 4.55K .62 J; u
~

120.45 2.19K

ZODIBBEET D7 J4ARETY I LA R LELE - - S
Low Pass Elliptic -order =6
Fp = 1.0000KHz attp = 0.10dB Fs = 1.5000KHz atts =57.77dB

FAEES Tet2) OImZERBEITKRATERSNET,

(1)
kk R ° J{C R]
=- — — 2—6
HZ( p’) 1+kd R, .o  kd+kr+4—4kk 1+kr ( )
68"+ S+—5—
C,R,(1+kd) C,’R,"(1+kd)

2°Rb kd - Cb
C2 =

Rl—RbCl—Z Ch,R2 =
2T TR kr 2

,R3 = (kk—1)-R5
1HBBOT 4 W -DOIEEK

U - 0.1089 - s? + 111.0642Meg
17 524+ 1.0101K - s + 43.3580Meg

2/H DT 4 VZ-DIrEREL

b 0.1089 - s2 + 16.8874Meg
27 2 4+ 3.4858K - s + 31.3449Meg

3H/EHDT 4 )V Z-DIriEREL

_0.1089-s? + 10.1886Meg
37 52+ 6.1303K - s + 14.2238Meg

) A R BELNT 3 SDOEEMM HI~H3 OFnEhnR (2 —6) &l
BearF o YOlEERETHZETT AN EDOERRNET LET,

DT 4 NE—=DERIE, (7 4V H T OIRERE & EHEOWRE L] —» Th—RX%
T4 VH | — [FEHBEEOIE R E] ICHALTHY £,
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RIRSFEEHRT 5.

-2 LP4._6-ellip-1KHz.asc

WAt 2 FEMBs - m— AT L

V(out)

R

PELIEIR O ik 2MHz ATl B — 27 3% %, R4_3 12 C3=110p Z WA L CaiEd 5,

240.9 240.9
Cbi-1-Ch2_1

7 0:13u | 0:13u
SINE(OL1K) - - = |

.acoct 50 1 100meg -1

ZOEEEET T3 1A% Th LAct L3 LE
Low Pass Elliptic ‘order =6
Ep = 1.000DKHz attp = 0.10dB Fs = 1:5000KHz atts = 57.77dB

B2 1P4_6-ellip-1KHzasc

V(out)

45.65K 2,65K
Cb1-3 Ch2_3

oﬁl
ADA4807-4
vm
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iz}
%

FHAEIR D sk 2MHz 1l > 7 B — 27 3E A 72,

JA B 2 TR T D
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LtAct I2 L2 7 4 VX —D&ETFIE At 2 MBI - v — XX T 4 LA

ERRDORFIEEZEZT S

LR R e o L ; == E e L R R R e e S o
[ S O RL & SRl

F&X 7 7 A V4 E¥LT test¥LP4_6-1KHz.asc 1Ef% B Wed Mar 19 19:26:46 2025
7frs” Low Pass Elliptic &%=6 BIRT— =0
Fp= 1.0000KHz attp=0.1000dB Fs= 1.5000KHz atts= 57.77dB

1 (et2) LP4-0-0; Rb_1(2 {#)=240.9005 Cb_1(2 )= 0.1300u R1_1 = 120.4503
Cl_1= 0.2600u 787£=3.88%

1 R2_.1= 2.1890K C2_1= 1.8000u 7 =0.50%

1 R3_.1= 67.5118K R5_1= 10.0000K 7% =0.72 %

1 R4.1= 4.0321K R6_1= 10.0000K ii7% =3.28%

2 (et2) [LP4-0-1] Rb_2(2 f#)=297.4562 Cb_2(2 )= 0.2700u R1_2 = 148.7281
Cl.2= 0.5400u 47£=3.90 %

2 R2.2= 45511K (C2.2= 0.6200u 7 =327%

2 R3.2= 7.8941K R5_2= 10.0000K #47% =3.87%

2 R4.2= 3.4044K R6_2= 10.0000K 747 =3.07%

3 (et2) LP4-0-2] Rb_3(2f#)= 2.6512K Cb_3(2 )= 39.0000n R1_3= 1.3256K
C1_3= 78.0000n #i75=4.68 %

3 R2.3= 60.3453K C2_.3= 0.1200u 7% =2.74%

3 R3.3= 4.2680K R5.3= 10.0000K 787 =0.75%

3 R4.3= 5.4615K R6.3= 10.0000K 787 =2.54%
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LtAct 12X 57 4V Z—DFEFIE HEH 3 FbET T NIRRT 4 ILE

B3 FIESTT - NANNRT 4 I)LAE

71 b A7 BB 1KHz, U 7V08 0.1dB TREN 4 IROFT =B =7 « NA /XA T ¢

N EFF L THET,

HIA-IDAA X
FANADER NAAART 1A BEESHE FrEvzo
BHTDT 1R ORE m(<=58) 9|

hw b 72EE# Fo f1 [knz ]
BE#F-EIIDHBERRIZ 7 atte [0.1 g | OK
REAEEICETIRBHEFL LT, ¥s = [1-5 g feutl

F BT T g NVE T AT, BREEOMIZY D AT INME T,

RREEHED T S 2
“Acctn SR

717" High Pass Chebyshev  #R¥E=4
Fp = 1.0000Hz attp = 0.1000dB Fz =666.6667 Hz atts = 11.42dB

10dB

04B
-10dB /
-20dB [ T TA I
-304 /
-404B /

100 300 1K 3K

EEBBOZRBZHER
e RERORER. by AT AR, Q. GBAH
7+n)" High Pass Chebyshev W¥i=4
Fp= 1.0000KHz attp=0.1000dB Fs=666.6667 Hz atts= 11.42dB
2 WA DA
Pn 2*s"2+Pn 3*s+Pn 4

Hn = -------------mmmmmmmmmmoeees
s"2+PnO0*s+Pn 1
2
n Pn O Pn 1 Pn 2 Pn_ 3 Pn 4
1 2.4958K 29.6823Meg 1.0000 0 0
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LtAct (2 X5 7 4 V2 —D%FHFIE HEFS T BV =T c NANRNRT 4 VH

Fe= 867.0999Hz Fc/~7 1= 6.7808dB Q= 2.1829 GBf&
=189.2819KHz

2 12.8650K 63.3759Meg 1.0000 0 0
Fe= 1.2670KHz Fc 71 >=- 4.1690dB Q= 0.6188 GB ffi=
78.4031KHz
[EFRE & BREBFS
B = || @ 3
V(out)
L HP2_4-chev-1K-Op1dB.asc = | = E
vp vm . . - .
de Lo S =] 5] =
—‘_7-12 L o el 21 {Uz l cL}_zL((:z_z [Ul Lout
vl s [N o | dgrasors
s ) <R2.1 <R2.2
SINE(011K) | < 1.2Meg < 270K
AC1~~ :

.ac oct 50 0,01 100meg

ZOBRBEEFIT1I70AEFY T LtAct B D LELE
High Pass Chebyshev order =4
Fp = 1.0000KHz attp = 0.10dB Fs =666.6667 Hz atts = 11.42dB

RFEOMHER
ARk [A]BE DR L 3R T RRRRRRRR e R
A& 7 7 A V4 E¥LT test¥HP2_4-chev-1K-OpldB.asc fEfk HHEF Sun Mar 23
16:55:19 2025
7+n)" High Pass Chebyshev %(=4 ZE— F=0
Fp= 1.0000KHz attp=0.1000dB Fs=666.6667 Hz atts= 11.42dB

1 (HP2) HP2-0-1) R1_1= 56.0000K R2_1= 1.2000Meg
Cl_1= 1.0003n C2_1= 0.5012n 727 =1#J %

2 (HP2) 'HP2-0-2] R1_2=150.0000K R2_2=270.0000K
Cl1 2= 0.9379n C2.2= 0.4154n 27 =1#J %
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LtAct IC X 57 4 V&2 —DEHTFIA A4 WF BT T o NIRRT 4 LH

B4 HFFIELTT - NAIRRT 4 LA

By AT EEES 1KHz, U 7v28 0.1dB. B A T EEE O 1/1.5 1%

(666.66Hz)

ICBWTCH A UN-40dB UL FERABWMTF 2B =7 « NAINRAT 4 VE ZREH L THhE

‘a—o

74 LA DEIR
1T DIEFREIR X

EAEADLT. ..l &F=v27 LEHA,

F=EHIA-FOAR X

BIRESED TS5 2

L LSRR ati 0 10000 Fs -666.6867 o atts = 44,538
1048
- /
-10dk
-20dB ——— \\ [ —
-40db L g
50B SN \ /
N/ \/ \Hl
o L |
100 300 IK %
B

RETDRER

T 4 IVE DOWB 8 IR S, 666.66HZ 12T D7 A D -44.53dB 12720 F L1~

7 4 IV DEIR
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LtAct lIC k27 4 V2 —DF&FHFIE A4 WF BT T o NIRRT 4 LH

EEBAROFRYERHER
e RERBSOFRE, by P T AR, QE. GBE
7fn)" High Pass Inv. Cheb &%=8
Fp= 1.0000KHz attp=0.1000dB Fs=666.6667 Hz atts= 44.53dB
2 WX DOFEH
Pn 2*s"2+Pn 3%s+Pn_4

Hn = -----------m-mmmmmmmmmemeeees
s"2+Pn O0*s+Pn_1
2 Ik
n Pn O Pn_ 1 Pn_2 Pn_3 Pn_4
1 1.2966K 27.9210Meg 1.0000 0 16.8782Meg

Fe= 840.9807Hz Fc /7 A = 4.1462dB Q= 4.07563 GB &
=342.7243KHz
2 3.6924K 23.1731Meg 1.0000 0 12.1303Meg
Fe= 766.1480Hz Fc 7 A . =- 4.1344dB Q= 1.3037 GB fi=
99.8838KHz
3 5.5261K 16.4586Meg 1.0000 0 5.4157Meg
Fc= 645.6788 Hz Fc 71 > =- 6.1506dB Q= 0.7341 GB fi=
47.4018KHz
4 6.5185K 11.7107Meg 1.0000 0 667.8035K
Fc= 544.6424Hz Fc 7 A >=- 6.1071dB Q= 0.5250 GB fi=
28.5928KHz
B B8R & RlR ST

“ HR3_Brinv-chev-1KHz-Xs1p5 asc e
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LtAct IC & 57 4 V&7 —DGHTFIA A4 WF BT T o NIRRT 4 LH

HFEDOMHER
e L L Eﬁg@*‘%ﬁ k %%1@ B R L R e L L L L L T
F&X 7 7 A V4 E¥LT test¥HP3_8-inv-chev-1KHz-Xs1p5.asc 1ERK HHF Sun Mar 23
17:09:48 2025
7tn)" High Pass Inv. Cheb &%=8 ZWE— =0
Fp= 1.0000KHz attp=0.1000dB Fs=666.6667 Hz atts= 44.53dB

1 (et1) THP3-0-0) Rb_1(2 {#)=189.2493K Cb_1(2 )= 1.0000n #%+5=4.89 %

1R1_1= 1.0000KR2_1= 6.7860KR3_1= 6.7860K R4_1(5 {)= 11.2259K
#7£=2.03 %

2 (et1) THP3-0-2) Rb_2(2 {i)=207.7340K Cb_2(2 ff)= 1.0000n #27£=3.72 %

2R1.2= 1.0000KR2 2= 1.5239KR3_2= 1.5239KR4_2(5 )= 2.9111K #&
72=3.77 %

3 (et1) THP3-0-2) Rb_3(2 f#)=246.4925K Cb_3(2 {f)= 1.0000n #275=2.63 %

3R1_3= 1.0000K R2_3 =395.6565 R3_3=395.6565 R4_3(5{f)= 1.2024K &4
7£=2.03 %

4 (etl) THP3-0-2) Rb_4(2 {f)=292.2192K Cb_4(2 fi)= 1.0000n #275=2.66 %

4R1_4= 1.0000KR2_4= 327867 R3_4= 32.7867 R4_4(5 f#)=574.9518 4
7£=2.76 %
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LtAct 12X 57 4V Z—DFEFIE FEFD WF oL T e R RRRT 4 LH

HE5 HFIEL T T - NV RIRRT 4 ILA
TR E S 10KHz 76 20KHz, U 7 L78 0.1dB. REDR 6 ROWF =B =7 « AN
VRRAT 4 NE EREF L THRET,

BREHSTA-IOAN X
A RAOEE SVEART 1A REINE Frevzz
BHTH7 72 0%E ni<=58) [6]
El#E THOBMEBEHE Fel - (Fsl = Fpi/as) 10 |kHz |
BiEEE LW ORE® Fe2 : (Fs2 = Fpikxs) |20 |kHz -
BB#Fe,FR2IC B I3 ZBEERILY 7)1 atte fo-1 dB Ok |
BEEEEICET SMBAEFL LT, Xs = Fpi/Fst |19 & Aot

A

BiRESEED T 52

A veacen =EEs

737" Band Pags Chebyshey /X&H=6
Fpl = 10.0000kHz Fp2 = 20.0000EHz attp = 0.1000dB
Fsl = 6.6667KHz Fs2 = 30.0000EHz atts = 55.36dB

10dB
0dB

-10dB
-20dB - / X 5 \
-304B P

e SIS LT
\

-60dB /

= Ayl

-80dB
1K 3K 10K 30K

EEBBOZRBZHER
e RERORER. by AT AR Q. GBAE
7fn)” Band Pass Chebyshev &%(=6
Fpl =10.0000KHz Fp2=20.0000KHz attp =0.1000dB
Fs1= 6.6667KHz Fs2=30.0000KHz atts= 55.36dB
2 WA DA
Pn2*s"2+Pn 3*s+Pn 4

Hn = -------------mmmmmmmmmmoeees
s"2+PnO0*s+Pn_1
2
n Pn O Pn 1 Pn 2 Pn_ 3 Pn 4
1 9.7297K 16.4041G 0 96.2458K 0

Fe=  20.3843KHz Fc %1 1= 19.9057dB Q= 13.1637 GB
=265.4347MegHz
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LtAct (2 X5 7 4 V2 —D%FHFIE REFD WMTF =BT =T e N RRART 4 VK

2 4.6831K 3.8004G 0  46.3255K 0
Fe= 9.8115KHz Fc 71 »= 19.9057dB Q= 13.1637 GB&
=127.7604MegHz
3 24.9091K  13.5943G 0  68.7994K 0

Fe= 18.56566KHz Fc 71 = 8.8245dB Q= 4.6808 GB f&i=
23.9909MegHz
4 14.4674K 4.5859G 0 39.9593K 0
Fe= 10.7778KHz Fc 71 = 8.8245dB Q= 4.6808 GB &=
13.9341MegHz

5 29.6037K 9.6645G 0 35.6739K 0
Fe= 15.6462KHz Fc 71 >= 1.6201dB Q= 3.3208 GB &=
6.2612MegHz
6 24.1856K 6.4506G 0 29.1448K 0

Fe= 12.7826KHz Fc 71 >= 1.6201dB Q= 3.3208 GB f&=
5.1153MegHz
BB R & RIR S
-2 802 6-inv-chev-1K-20K raw ERERscl

V(out)

- Sl =]
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LtAct 128 A7 4 V2 —O%EF)IE FHEFh WTF 2B 2T o XU RRZAT 4L H

HFEDOMHER
e L L E%@*ﬁﬁi k %%1@ B R L R e L L L L L T
[B1#& X7 7 A V4 E¥LT test¥BP2_6-inv-chev-1K-20K.asc {Fpk H K Sun Mar 23
17:21:15 2025
7fn)” Band Pass Chebyshev &%(=6 ZME— =0
Fp1=10.0000KHz Fp2=20.0000KHz attp=0.1000dB
Fs1= 6.6667KHz Fs2=30.0000KHz atts= 55.36dB

1(BP2) (BP2-1-0) R1_1 (2 f#) =300.0000K C1_1(2{f)= 0.6852n R2_1(2 {if)=
11.3950K 7274=3.55 %

1 R3_1= 88.9200K R4_1= 10.0000K 47 =2.34%

2(BP2) [BP2-0-0) R1_2 (2 f#) = 10.0000K C1_2(2 &)= 42.7065n R2_2(2 )=
379.8326  #7E=2.76 %

2 R3_2= 88.9200K R4_2= 10.0000K 78 =2.34%

3(BP2) BP2-1-0) R1_3 (2 f#) =100.0000K C1_3(2f#)= 0.8029n R2_3(2 fii)=
10.6819K #i75=3.66 %

3 R3.3= 17.6202K R4_3= 10.0000K 747 =2.16%

4(BP2) [BP2-1-0) Ri1_4 (2 f#) = 10.0000K C1_4(2 &)= 13.8242n R2_4(2 f#)=
1.0682K #i75=6.66 %

4 R3_4= 17.6202K R4_4= 10.0000K 7&8% =2.16%

5(BP2) 'BP2-1-1) R1_5 (2 ff)) = 68.0000K C1_5(2{H)= 0.9935n R2_5(2 fi)=
10.2385K #47=2.42 %

5 R3.5= 20505K R4_5= 10.0000K 727 =2.46%

6(BP2) BP2-1-1) R1_6 (2 f) = 10.0000K C1_6(2{#H)= 8.2694n R2_6(2 ff)=
1.5057K  #7£=0.92 %

6 R3_6= 20505K R4_6= 10.0000K 727 =2.46%
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LtAct IC & 57 4 V&7 —DGHTFIA HEF6 FEHE - X R I x—v g7
QA IVH

it 6 BEAMEHK - ANV FTYIR—2 30T 4ILA
SRR E I 5 10KHz 726 50KHz, U 7 /L3 0.1dB. RIEHE S F TOMEEN 1.3 TR
BN 6 ROFEHBEE « N R I x—v a7 4NV HeEit L THAET,

BEIA-IDAN X

F7ALAOEHE BET 1A WEFEE Elliptio

BHT DT 12 ORE n(<=58) §

B#E THOBBEH Fe1 o (Fs1 = Fpikns) 10 |kiz -

e bW ORER Fe2 : (Fs2 = Fp2/xs) |50 |kHz o]

RBE#FpLFR2CBI3 ZRERRIL 7 Il attp 0.1 de

RESNEEIETOMBREFIL LT, ¥s = Fs1/Fpl BROBET

AALTTEL 1< %s < 2.2361 1.3 @ Feutl |
>

RiREFED T S 2
—— [E=8 IS~

73n7" Band Eject Elliptic IRZY=6
Fpl = 10.0000Hz FpZ = 50.0000EHz attp = 0.1000dB
Fsl = 13.0000KHz FsZ = 33.4615KHz atts = 60.98dB

10dB
0dB
-10dB
-20dB

_a0dB - ! it T  —
Rl e S R \H}\‘*%J/\ I

-504dB P T [J
-60dB

-70dB f‘\[‘\ |
-80dB : V “

-90dB
1K 3K 10K 30K 100K

BHIE F o> 10KHz O 1.3 5 O JE 3 C iz & 60.98dB 3G LAt TV ET,
CEBBORBEHER
e RERORER, by AT AR Q. GBAE
7n/” Band Eject Elliptic *%(=6
Fpl =10.0000KHz Fp2=50.0000KHz attp =0.1000dB
Fs1=13.0000KHz Fs2=238.4615KHz atts= 60.98dB
2 XD
Pn 2*s"2+Pn 3*s+Pn 4

BB 7 Z 7 77 | 201



LtAct IC & 57 4 V&7 —DGHTFIA HEF6 FEHE - X R I x—v g7
QA IVH

n Pn O Pn_ 1 Pn_2 Pn_3 Pn_4
1 31.5370K 92.3898G 2.9301 0 80.4257G
Fe= 48.3763KHz Fc 71 = 25.9554dB Q= 9.6381 GB fi=
46.6256MegHz
2 6.7379K 4.2173G 0.8705 0 12.3571G
Fe= 10.3357KHz Fc 71 > = 259554dB Q= 9.6381 GB fi=
9.9616MegHz
3 153.9187K 112.5065G 1.1550 0 52.3603G
Fe= 53.3838KHz Fc 71 = 35382dB Q= 21792 GB fi=
11.6334MegHz

4 27.0049K 3.4632G 0.4654 0 4.0001G
Fe= 9.3661KHz Fc 7 (= 3.5382dB Q= 2.1792 GB &=
2.0411MegHz
5 624.4802K 174.8367G 1.4886 0 84.6835G
Fe= 66.5482KHz Fc 71 »=- 3.4476dB Q= 0.6696 GB f&=
4.4559MegHz
6 70.5044K 2.2286G 0.4844 0 3.3174G
Fe= 7.5134KHz Fc 71 =- 3.4476dB Q= 0.6696 GB7H
=503.0733KHz
[EIE% [ & B IR Bt
= ==

V(out)

4, BE2 6-ellip-10K-50K-Xs1p3.asc =E
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LtAct I2 L2 7 4 VX —D&ETFIE PREt 6 MBHEE - N R I Rx—v a7
S IVH

HFEDOMHER
o e E%@*ﬁ}ﬁ k %%{ﬁ L e e e e e e L L L
FIEEX 7 7 A V4 E¥LT test¥BE2_6-ellip-10K-50K-Xs1p3.asc  EAk HEF Sun Mar 23
17:46:24 2025
7fu)” Band Eject Elliptic *#=6 ZHRE— =0
Fp1=10.0000KHz Fp2=50.0000KHz attp=0.1000dB
Fs1=13.0000KHz Fs2=38.4615KHz atts= 60.98dB

1 (et2) 'HP4-1-0) Rb_1(2f#)= 80.4788K Cb_1(2 &)= 75.0000p R1_1= 40.2394K
Cl_1= 0.1500n 7#87£=3.61%

1 R2.1= 56.0000K C2.1= 5.6627p &% =1.11%

1 R3_.1= 7.0154K R5_1= 10.0000K i47% =3.07%

1 R4.1= 19.8206K R6_1= 10.0000K 47 =0.91 %

2 (et2) [LP4-1-0) Rb_2(2f#)= 5.2458K Cb_2(2 ff)= 1.6000nR1_2= 2.6229K
Cl1.2= 3.2000n #a7=5.11%

2 R2.2= 91.9549K (C2.2= 2.2000n #&7% =1.04%

2 R3.2= 6.6301K R5_2= 10.0000K 747 =2.56%

2 R4.2= 19.6295K R6_2= 10.0000K 7&7% =1.89%

3 (et2) THP4-1-1) Rb_3(Q2 )= 62.6228K Cb_3(2 )= 75.0000p R1_3= 31.3114K
C1_3= 0.1500n #57£=4.30 %

3 R2.3= 75.0000K C2_3= 2.8430p #47% =5.03%

3 R3.3= 24201K R5.3= 10.0000K 727 =0.83%

3 R4.3= 10.0046K R6_3= 10.0000K 747 =0.05%

4 (et2) THP4-1-1) Rb_4(2 )= 4.9029K Cb_4(2 ffl)= 2.2000n R1_4= 2.4515K
Cl_4= 4.4000n 787=5.07%

4 R2.4=157.4396K C2_4= 1.8000n #47% =1.63%

4 R3_4= 23268K R5_4= 10.0000K 747 =3.15%

4 R4 4= 9.9536K R6_4= 10.0000K 727 =0.47%

5 (et2) THP4-1-2] Rb_52 )= 55.9015K Cb_5(2 )= 75.0000p R1_5= 27.9508K
Cl.5= 0.1500n 727%=3.41%

5 R2.5= 30.0000K C2_5= 20.1758p 747 =0.87%

5 R3.5=594.8418 R5_5= 10.0000K 77 =4.23%

5 R4_5= 21.6091K R6_5= 10.0000K 747 =1.81%

6 (et2) THP4-1-2) Rb_6(2 )= 5.0347K Cb_6(2 ff)= 2.4000nR1_6= 2.5174K
Cl_6= 4.8000n 727=527%

6 R2.6= 20.4934K C2_6= 4.3000n 4% =2.41%
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LtAct 2k A7 4 V&2 —DFEFHFIE ke FEMEE e N R Y S x—v gL
QA IVH

6 R3_6=425.06567 R5_6= 10.0000K #Fi#= =1.16%
6 R4 6= 21.2946K R6_6= 10.0000K 77 =3.31%
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LtAct lIC k27 4 V2 —DF&FHFIE

REH7 FEEBEE - N FNNR T 4 LA

EREHUOA-9 DA

FANA0EE SUFMAT A
BHTE7 12 0RE n(<=58)

EAHE THOREE®E Fe1 @ (Fs1 = Fplizs)
BAWE LIROBEB#E Fe2 © (Fs2 = Fplkxs)
BB#FpLFRZIZEIIZBERRIT U 7L atte
BRERBEEICSTIRER EFs1E LT, ¥z = FpifFsi

R T AR - N B SR T g

< |
ERFEFHE Elliptic
T ——
|10 [Hz |
|100 lgnz ZI
[0.01 4B 0K |
1.2 g fevtl

EIE A Y 10Hz 7205 100KHz TV 7 /L7 0.01dB TRHEIE s 2l Ze 10 Yk OF5 M BI%L

NV RRAT g VR EBGF L THE LT,

I IR T I O 8 A Fpl(10Hz), SR i

Xs=Fp1/Fsl % 1.2 |TF%E

CET DA HE Fs1 £ LT,
LE L7, 2 TFs1=8.33Hz UL F CHRIEHERICGELET,

I FIRIC T D T A R L BRSBTS e — 7 AR L E LT,

fZEEHRDFREK

e REROREL, Iy N T AR, Q. GBAH

74.92dB

Pn_3 Pn 4
0 1.0089T
18.1075 GB f£=186.6418Meg
0  275.1878
18.1075 GB ff=17.5675K
0  354.6454G
5.0343 GB ##=50.0381Meg
0  782.8964
5.0343 GB ffi= 5.0649K
0  225.6261G

2.1771 GB f#=19.7147Meg

7fn/” Band Pass Elliptic %*#=10
Fpl1=10.0000 Hz Fp2=100.0000KHz attp =0.0100dB
Fs1= 8.3333 Hz Fs2=120.0000KHz atts =
2 kXD
Pn 2*s"2+Pn 3*s+Pn 4
Hn =---------mmmmmmmmmmooes
s"2+PnO0*s+Pn_1
2 k=
n Pn O Pn 1 Pn 2
1 35.7660K  419.4301G  74.0575m
Fe= 103.0742K Q=
2 3.3664 3.7159K 2.4055
Fe= 9.7018 Q=
3 124.0526K  390.0195G 0.1959
Fe= 99.3947K Q=
4 12.5568 3.9961K 0.9093
Fe= 10.0609 Q=
5 261.3429K 323.7284G 0.2556
Fe= 90.5546K Q=
(RS DR
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LtAct lIC k27 4 V2 —DF&FHFIE AR T FEMBAEL « NV R T 4 H

6  31.8706 4.8144K  0.6970 0 1.2306K

Fc=  11.0431 Q= 21771 GB#i= 2.4042K
7 457.3365K  220.3315G 0.2461 0  159.4841G

Fe=  74.7065K Q= 1.0264 GBfi= 7.6676Meg
8  81.9443 7.0736K  0.7238 0 1.7409K

Fe=  13.3857 Q= 1.0264 GBfi= 1.3739K
9 633.6715K  125.1068G  0.1967 0  113.3081G

Fe=  56.2938K Q= 0.5582 GBfii= 3.1422Meg
10 199.9599 12.4577K  0.9057 0 2.4504K

Fe= 177639 Q= 0.5582 GB f£=991.5526

AR AT O R

ﬁ%BPd_m—mHz—mDKHz—Xs 1p2.raw E@

V(out)

7

10Hz T -0.08dB & 100KHz T 8.4dB O t'— 7 23584
9.7Hz T 0.46dB & 102KHz T 11.7dB & &'— 7 23384,
S bIZ, 500KHz il B — 2 A3 384k,

R B DOFR %L 82 / 201




LtAct lIC k27 4 V2 —DF&FHFIE AR T FEMBAEL « NV R T 4 H

FERR L 72 [F BRI

'l: BP4_10-10Hz-100KHz-Xs 1p2-adj.asc EI@

C17»6 CTH#BMLT, B—7 &% L,

RBR D BIRBEE

%:‘EED-‘_ 0-10Hz-100KHz-Xs 1p2-adj.ra ‘7iH7E"7£|

V(out)
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LtAct I2 L2 7 4 VX —D&ETFIE

RFIEDHER

LR R e o L

[ S O RL & SRl

XEF T FEMBAS - N RRRT 4 VK

E e L R R R e e S o

A& 7 7 A 4 E¥LT test¥BP4_10-10Hz-100KHz-Xs 1p2.asc  {E% HEF Thu Jan

28 09:39:04 2021
71r)” Band Pass
Fpl = 10.0000 Hz

Elliptic

Fsl= 8.3333 Hz Fs2=120.0000KHz
1 (et2) [LP4-2-0) Rb_1(2 ff)=
Cl_1= 20.0000n #27=4.05%
1 R2.1= 3.3966K C2_1=
1 R3_1= 79.2405K R5_1=
1 R4.1= 2.7386K R6_1=
2 (et2) THP4-0-0) Rb_2(2 fif)=
Cl 2= 0.1360m #i#=7.10%
2 R2.2= 820000 C(C2.2=
2 R3_2= 83.1588K R5_2=
2 R4.2= 2.7454K R6.2=
3 (et2) [HP4-2-0]

C1_3= 3.0000n 787£=4.28%
3 R2.3= 12.8217K (C2_3=
3 R3.3= 9.0407K R5_3=
3 R4.3= 5.1447K R6.3=
4 (et2) THP4-0-0/ Rb_4(2 fii))=
Cl_4= 24.0000u F&75=7.49 %
4 R2_4= 1.5000K C2. 4=
4 R3_4= 84417K R5_ 4=
4 R4 4= 5.0852K R6_4=
5 (et2) THP4-2-1] Rb_5(2 fii)=
Cl.5= 1.8200n 47=5.09 %
5 R2.5= 84.4903K C2_5=
5 R3.5= 26260K R5 5=
5 R4 5= 56729K R6. 5=
6 (et2) THP4-0-1) Rb_6(2 f)=
Cl_6= 20.0000u 7£7%=1.20 %
6 R2.6= 2.7000K C2 6=

P EOHERR

KE=10
Fp2 =100.0000KHz attp = 0.0100dB

Rb_3(2 fii)= 495.5040 Cb_3(2 )=

ZHE— F=0

atts = 74.92dB

27.0926 Cb_1(2 fi)= 10.0000n R1_ 1= 13.5463
M =285%
FE =3.48%
P =141%

68.0000u R1_2 = 687.4663

0.1600u
10.0000K
10.0000K

1.3749K Cb_2(2 f#)=

2.1491u  ##E =237T%
10.0000K 727 =1.39 %
10.0000K 727 =1.65%

1.5000n R1_3 = 247.7520

3.0000n F&7% =1.39%

10.0000K 727 =0.66 %

10.0000K #27% =0.87 %
2.8400K Cb_4(2 ff)= 12.0000u0 R1_4=  1.4200K
0.1880u 7 =4.25%

10.0000K #27% =2.86 %

10.0000K #27% =0.29 %

1.1696K Cb_5(2 fi)= 0.9100n R1_5 = 584.8159

0.8200n A7 =2.95%

10.0000K 787 =2.82 %

10.0000K 787 =1.28%
2.3799K Cb_6(2 ff)= 10.0000u R1 6= 1.1899K

66.2853n #E7E =2.59%
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LtAct I2 L2 7 4 VX —D&ETFIE AR T FEMBAEL « NV R T 4 H

6 R3_6= 25190K R5_6= 10.0000K 727 =4.72%

6 R4._6= 5.6411K R6_6= 10.0000K 747 =0.73 %

7 (et2) THP4-2-2] Rb_7(2ff)= 1.6563K Cb_7(2 fE)= 0.7500n R1_7 = 828.1695
Cl_7= 1.5000n 7&7£=3.54 %

7 R2.7=165.2703K C2_7= 0.7500n & =3.19%

7 R3_7=1789.1486 R5_7= 10.0000K 47 =3.91%

7 R4_7= 6.8434K R6_7= 10.0000K 727 =0.63%

8 (et2) [HP4-0-2) Rb_8(2f#)= 2.0391K Cb_8(2 &)= 10.0000uR1_8= 1.0195K
C1_8= 20.0000u #&7£=2.71%

8 R2.8= 20000K C2.8= 0.1666u 2 =3.97%

8 R3.8=864.5213 R5_8= 10.0000K #7% =5.15%

8 R4.8= 6.8844K R6.8= 10.0000K 787 =1.23%

9 (et2) THP4-2-2) Rb_9(2f#)= 1.7567K Cb_9(2 ff)= 0.7500n R1_9 = 878.3708
C1_9= 1.5000n 7#87£=4.36 %

9 R2.9= 24.4309K C2_9= 1.6000n 47 =1.76%

9 R3_9= 33.3786 R5_9= 10.0000K % =1.13%

9 R4.9= 10.3249K R6_9= 10.0000K 747 =3.15%

10 (et2) 'HP4-0-2] Rb_10(2 ff)= 1.9225K Cb_10(2 ff)= 10.0000u R1_10 =
961.2606 C1_10= 20.0000u #2£=5.70 %

10 R2.10=820.0000 C2.10= 1.1778u 2 =1.89%

10 R3_.10=437.0772 R5_10= 10.0000K 727 =1.62%

10 R4.10= 10.7217K R6_10= 10.0000K 747% =2.60 %
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#defineMAX 210

double g,pl,ql,rl,tm,f0,fd,fdO,fs,
fpp,attp,fss,atts,w0,ep=1e-10;

double pi=M_PI;

double h,k,kd,kb,u,ks,kds;

double DK ,kk, kk1,fdd;

double ee,e,tp,a,sigma,ch;

double aa[MAX],pp[MAX];

double ffIMAX],z[MAX],w[MAX],cc[MAX],dd[MAX],bb[MAX];

double s[MAX],qqIMAX],zw[MAX],zf[MAX],zq[MAXI;

int odd,nin,n,m,em,rr,tt;

double intg(double k) /% satEmy  KK) ziwrzs x

{
double a,b,c,d;
int 1;
a=1.0;
b = sqrt(1-k*k);
for(i=0;i<505i++){
¢ = (a+b)/2.0;
d = sqrt(a*b);
if((c-b) < c*ep) break;
a=¢;
b=d;
}
a=¢;
return (pi/2.0/a);
}
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double sn(double u,double k)
{
double sn,q,v,w0;
int js
q = exp(-pi*kk1/kk);
v = pi/2.0*w/kk;
sn = 0.0;

for(G=0;j<505j++){
wO0 = pow(q,j+.5);
sn += w0*sin((2.0*j+1.0)*v)/(1-w0*w0);
if(w0 < ep) break;

}
return (sn*2.0*pi/k/kk );
}
void cal_prod(int sn)
{
int L)
bbl0] =s[1]; bbl1]=1.0; j=1;
loop_prod:
-+
aal0] = s[j1*bb[0];
for(i=1;i<=j-1;i++) aalil = bbli-1]+s[jl*bblil;
for(i=0;i<=j-1;i++) bbli] = aalil;
bblj] = 1.0;
ifGj<sn) goto  loop_prod;
}

VANV NF VTR /AN
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k% 0BT EIBEREHET S %/
void cal _loss(doublef0)
{
int 1
double wO,ww,bf1,bf2,bf3;
w0 = tp*f0; ww = w0*w0; a =Kkk;
for(i=1i<=m/2;i++){
bfl = pow(zwlil,2.0); bf2 = pow(ww-bf1,2.0);
bf3 = pow(w0*zwlil/zq[il,2.0);
a += 10.0*1og10(bf2+bf3);
}
for(i=1;i<=n;i++)1
bfl = pow(wlil,2.0);  bf2 = pow(ww-bf1,2.0);
a -= 10.0*log10(bf2);
}
if(m>em) a += 10.0*log10(ww+pow(sigma,2.0));
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Sk R7TZARUEIZED, 2%k e 1 RKXROERFOREEZHETS %/
void cal_p_qQ

{

int 1,11,x1,x2,x3;

double p,q,x4,ddp,dq;
for(i=1;i<=tt;i++) aalil /= aal0];
aal0] =bbl0] =ccl0] =1.0; i1 =0;

loop_p_q2:
p=q=0.0; i1++;

loop_p_q1l:
bbl1] = aal1] - p; ce[1] =bbl1] - p;
for(i=2;i<=tt;i++) bblil = aalil - p*bbli-1]-q*bbli-2];
for(i=2;i<=tt-1;i++)  celil = bbli] - p*ccli-1]-q*ccli-2];
x1 =tt-1; x2 =tt-2; x3 = tt-3;
x4 = powl(cc[x2],2.0)+cc[x3]*(bb[x1]-cclx1]);
if(x4 == 0.0) x4 =0.001;
ddp = (bblx1]*cc[x2]-bb[tt]*cc[x3])/x4; p += ddp;
dq = (bb[tt]*cc[x2]-bb[x1]*(cclx1]-bb[x1]))/x4; q += dg;
if(fabs(ddp)+fabs(dq)>1e-6) goto loop_p_ql;
pplill = p; qqlill = g; aal1] = p; tt = 2;
for(i=2;i<=tt;i++) aali]l -= (p*aali-1]1+q*aali-2]);
if(tt>2) goto  loop_p_q2;
if(tt == 2) {

il++ pplill = aal1l; qqlill = aal2l;

}
if(tt == 1) a = -aal1l;

}
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void cal_qz(

{

int 1

double d;
for(=lii<=ninyi++)  sli]l=-1;
for(i=nin+1;i<=nin+n;i++) slil = -pow(z[i-ninl,2.0);
for(i=nin+n+1;i<=nin+2*nsi++) slil =sli-nl;  cal_prod(m);
d = pow(-1,nin);
for(i=0;i<=2*m;i += 2) ddl[i] = d*bbli/2];

}

2nin
2
/¥ gzc{i] [1[5* +(xuo,) | otvmomueisnTs «/
o, y

void cal fz2(int i)
{
int  jjLib

if(i<em+2) {

i=0; jf=1;
}
if(i>em) {
jl=1em; jf=em;
}
cclil = 0;

forG=jisj<=jfij +=2)  cclil += aaljl*aali-jl;
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void cal _fz()

{

int 1
for(G=lii<=ninsi++)  slil=1;
for(i=nin+1;i<=nin+n;i++) sli] = z[i-nin];
for(i=nin+n+1;i<=nin+2*n;i++) slil = z[i-nin-n];
i
cal_prod(i);
for(i=0si<=emsi += 2) aalil = e*bblil;
for(i=0;i<=2*em;i += 2) cal_fz2();

}
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/% E(S) #3555, AL TRITA (JHET A AHORE)

k % f,/f of, fdoEhy M ATEERL b

m/2

1:![32 +(wip)2]

L BT,
C, H[32 +p,S+ qv]
v=1

Hm(a)p,s)z

p, =2ZW[i]/zQ[i]. a, ={ZW[i]}". x.@, =W[i] * /

void zero_find(int j)

{
int 1
double d;

for(i=0;i<MAX;i++){
aalil = 0.0; bblil = 0.0; cclil = 0.0; ddlil = 0.0;
pplil =0.0;  s[il =0.0; z[il = 0.0; wlil = 0.0;
zfli] = 0.0; zq[il = 0.0; aqlil = 0.0; zwlil = 0.0;

}
kd = sqrt(1.0-k*k);
ee = pow(10.0,0.1*attp)-1.0; VL
e = sqrt(ee); Sk e %/
kk = intg(k); /% kk=K(k) =,
kk1 = intg(kd); /* kk=K'(k) =
if(odd){

for(i=1;i<=(-1)/2;i++) fflil=1/k/sn(kk*i*2/;,k)*fd0;
}
else

for(i=1;i<=j/2;i++) fflil=1/k/sn(kk*(i*2-1)/j,k)*fd0;
fdd = £d0*fdo;
n=j/2;
nin = § - (j/2)*2);
m = nin + 2*n;
em = 2*(m/2);
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tp = 2.0%*pi;
kk = 0.0; rr=0;
tt =m;
for(i=1;i<=nsi++){
zlil = sqrt(1.0-fdd/fflil/fflil);
wlil = tp * fflil;
}
cal_fz();
cal_qz();
if(m>em) cc[2*m] = 0;
for(i=0;i<=2*m;i += 2) aalm-i/2] = cclil+dd[l;
cal_p_q0;
loop_zf:
rr++;  d = 1.0+pplrrl+qqlrrl;
bblrr] = (1.0+pplrrl/2.0)*fdd/d;
zflrr] = fd0/pow(d,0.25);
zqlrr] = 1/sqrt(2.0*(1-bblrrl/pow(zflrr],2.0)));
zwlrr] = tp*zflrrl;
if(rr<em/2)  goto  loop_zf;
if(m>em) sigma = sqrt(fdd/(a-1.0))*tp;
cal_loss(fd0);
kk = attp - a;
ch = pow(10.0,0.05*kk);
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